Try 1t yourselves

Suppose you know p = g, s = —g,and p.
Give an argument to conclude s.
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Inference Rules
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You can still use all the
propositional logic
equivalences too!



Properties of Logical Connectives

For every propositions p, g, r the following hold:

|dentity * Associative * DeMorgan’s Laws

- pAT=p - (vgvr=pv(gVvr) --(pVq) =-pA-q
- pVF=p — (@A AT=pA(QAT) -—(pAg) =-pV g
Domination * Distributive * Double Negation
—pVT=T —pA(@Vr)=(@Aq)V (pAT) ——p=p

— pAF=F -pv@Ar)=(@VgA(pVr)

ldempotent * Absorption  Law of Implication

- pVpP=Dp -pV(PAQ =D p—=>q=-pVq
—pADP=D -pA(PVQ =Dp

Commutative * Negation « Contrapositive

- pvq=qVp —pVap=T p—>q=q—>-p

—DPAQ=EqAD —pA=ap=F



